A B 7 R =

e £ L RIS - BEWEEF (A)
m B B E F
5 Fr | k2 EH
A M | $% 3% 48 1B H»o £ 5% 3A3IA FT (J30BME)
2 #H FH B | "WMIEE H1915 2 #H ¥ & HBH |H% 3% 48 1H
2 #H R 5 |#HERERY 2 # B & |BEBREAL
ik BB |031200 RHKIRLEED IREEER
2 # & £ |24,200,000M (5 BHWEIIR 5 EERZ 2,200, 000M)
FEME ( Fd) ax‘LAEN
& & &l BB i & |8
#Ht L7 AR
2 #H H F F | BNEEETEHH7009
REIRHE BH #2
AR B (B4B) |%% 3% 378 258 A o2 F B 2%
E 3 B | 0301 EMERERERER 2 8 R i £ | &K
A fL b 2
5 F 4 %10 %20 % 3[E e
20008051-0 24, 200, 000 22, 000, 000
“BRASHET7 MK
%L
20001914-0 24, 800, 000 22, 800, 000
mERILEKRAH
* %k k ¥ k
ENEE

239




